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ccceec Program PDC_miniRAM_douro_Ver.2.4.f

--- 2013 06
"014_INPUT. txt"
N_idou

mini-RAM N m o
N N_Nvalue
Fc 0

Fc
Fc (XAFc,xBFc)
Fc (xLigFc)
N x1Q)
-—- ( 24 3 ) -

2 1

O0OO0O00O0000000000000O0

dimension sindo(100),ganma(100), DD(2000,3),DS(9000),DE(9000),
SINND(9000),S16ZC(100),S1GZ(9000),SIGY(9000) ,DHK(2000),
zn(9000),zn1(9000),US(9000) ,UE(9000) ,wave(9000,2000,2),
TQD(100), 1TQ(100),SD(0:100) ,UESV(9000) ,DUESV(9000),
zzn(9000),zUS(9000),zUE(9000) ,FC(9000),U(9000),
zna(9000),xRL1(9000) ,xRL2_1(9000),xRL2_2(9000),
XR3(9000),xLL1(9000) ,xLL2_1(9000),xLL2_2(9000),
xL3(9000),FLL1(9000),FLL2_1(9000),FLL2_2(9000),
FL3(9000),s_shindo_L2(2,3),s_shindo_L1(3)

character*5 KGGou(100),KGG(9000)

character*20 hyo(27)

character*8 tit2(9000)

character*100 titl,tit,t_input,t_output,w _output,mr_output

character*90 dumy(20)

character*50 site_name

character*30 no_name

character*5 chiikikubun

character*20 hiduke,sokutei,kiroku

character*3 f _PDC,f _TRK

character*4 f _CSV

character*1 n(0:9),f z

character*5 jtype

character*20 n_FCsuitei

O~NO U WN PP

n(0)="0"
n(1)="1"
n(2)="2"
n(3)="3"
n(4)="4"
n(5)="5"
n(6)="6"
n(?)="7"
n(8)="8"
n(9)="9"

f_PDC="PDC"
f_TRK="TRK"

f_CSv=".Csv*"

f z="z"

hyo(1)=" No. "
hyo(2)=" File Name *
hyo(3)=" m -
hyo(4)=" )
hyo(5)=" ov (kPa) "
hyo(6)=" U (kPa) *
hyo(7)=" ovd(kPa) "
hyo(8)=" )
hyo(9)=" 1 "
hyo(10)="  Us(kPa)
hyo(11)="  Ue(kPa)
hyo(12)=" Ue/ocvd
hyo(13)=" AU/ovd
hyo(14)=" Na
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hyo(15)=" co-
hyo(16)=" R( ) *
hyo(17)="  R(L1) -
hyo(18)=" R(L2_ )"
hyo(19)=" R(L2_ ) -
hyo(20)=" L( )"
hyo(21)="  L(L1) -
hyo(22)=" L(L2_ )"
hyo(23)=" L(L2_ ) -
hyo(24)=" FL( ) "
hyo(25)="  FL(L1) *
hyo(26)=" FL(L2_ )"
hyo(27)=" FL(L2_ )

open(unit=5,file="014_INPUT.txt",status="old")

read(5,100) site_name
read(5,100) no_name
read(5,100) tit
read(5,115) hiduke,sokutei,kiroku
read(5,121) nnmax,hyoukou,gwl,DKasan
read(5,123) jshu,chiikikubun
read(5,124) jisinSW
read(5,125) setteisindo,jtype
read(5,122) iidou,iram,iwave
read(5,122) N_idou, iFcSW,N_Nvalue
read(5,126) xAFc,xBFc
read(5,127) xLigFc,xTQ
read(5,120) nn
do i=1,nn
read(5,130) sindo(i),ganma(i),KGGou(i)
end do
do i=1,20
read(5,100,end=30) dumy(i)
end do
30 im=i-1

close(5)

===== Keisuu
c--—- (kN/m3)
wganma=10.0

s_shindo_L1(1)=0.12
s_shindo_L1(2)=0.15
s_shindo_L1(3)=0.18
s_shindo_L2(1,1)=0.50
s_shindo_L2(1,2)=0.45
s_shindo_L2(1,3)=0.40
s_shindo_L2(2,1)=0.80
s_shindo_L2(2,2)=0.70
s_shindo_L2(2,3)=0.60
C___
if (chiikikubun .EQ. " Al") then
chiikil1=1.0
chiikil2_1=1.2
chiikil2_2=1.0
else if (chiikikubun .EQ. * A2") then
chiikil1=1.0
chiikil2_1=1.0
chiikil2_2=1.0
else if (chiikikubun .EQ. * B1") then
chiikil1=0.85
chiikil2_1=1.2
chiikil2_2=0.85
else if (chiikikubun .EQ. * B2") then
chiikilL1=0.85
chiikil2_1=1.0
chiikil2_2=0.85
else if (chiikikubun .EQ. * C") then
chiikilL1=0.7
chiikil2_1=0.8

3.5-5 PDC @)
69




chiikil2 2=0.7

else
write(*,100) "ERROR " "
go to 99
end if
C___
if (JisinSW .EQ. 1)then
if (Jtype .EQ. " L1%) then
setteichiiki=chiikill
else if (Jtype .EQ. " L2-1") then
setteichiiki=chiikilL2_1
else if (Jtype .EQ. " L2-2") then
setteichiiki=chiikil2_2
else
write(*,100) "ERROR "' "
go to 99
end if
end if
c
cceeeece cceeececccccccccccce
wr i te (* , 100) kkkkk *hkkkikkik"

if (iFcSW.eq.1) then
n_FCsuitei=" Fc
write(*,100) * Fc "
write(*,272) " Fc=",xAFc,"* uR/ovd +",xBFc

else if (iFcSW.eq.2) then
n_FCsuitei=" Fc

write(*,100) * Fc "
write(*,272) " Fc=",xAFc,"* Au/ovd +°,xBFc
else
write(*,100) "ERROR "Fc "
go to 99
end if
write(*,273) " N B=",x1Q
write(*,272) *© Fc=",xLigFc, "%"
write(*,270) *° =",jshu, " =", chiikikubun
write(*,271) * (L1)=",s_shindo_L1(jshu)
write(*,271) * (L2-1)=",s_shindo_L2(1,jshu)
write(*,271) * (L2-2)=",s_shindo_L2(2, jshu)
if (JisinSW.EQ.1)then
write(*,271) * ( )=",setteisindo
end if
write(*,271) * (L1)=",chiikill
write(*,271) * (L2-1)=",chiikilL2_1
write(*,271) * (L2-2)=",chiikilL2_2
if (JisinSW.EQ.1)then
write(*,271) * ( )=",setteichiiki
end if
Write (* , 100) "kkkkk *hkkkk"

CCceecececcceceececcecececcececececececceccccececcccccccecccccccce

C

c

C ______________

c
do i=1,100

if(tit(izi) .eq- " ") go to 10

end do

c

20 write(*,100)"----- DIR name error ------- "

go to 99

c

10 iim=i-1

c

C ______________

c
titl(L:iim)=tit(l:iim)
t_input(l:iim)=tit(l:1im)
t_input(iim+l:1im+13)="014_INPUT.txt"
t_output(l:iim)=tit(l:1im)
t_output(iim+l:1im+14)="014 RESULT.csv"
w_output(l:iim)=tit(l:iim)
w_output(iim+l:iim+8)="014_WAVE"

C ______________
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mr_output(l:iim)=tit(l:1im)
mr_output(iim+1l:1im+11)="014_SRS.csv"

open(unit=60, file=t_input)

write(60,100) site_name
write(60,100) no_name
write(60,100) tit
write(60,115) hiduke,sokutei,kiroku
write(60,121) nnmax,hyoukou,gwl,DKasan
write(60,123) jshu,chiikikubun
write(60,124) jisinSW
write(60,125) setteisindo,jtype
write(60,122) iidou,iram,iwave
write(60,122) N_idou, iFcSW,N_Nvalue
write(60,126) xAFc,xBFc
write(60,127) xLigFc,xTQ
write(60,120) nn
do i=1,nn
write(60,130) sindo(i),ganma(i),KGGou(i)
sindo(i)=sindo(i)+DKasan

end do
do i=1,im
write(60,100) dumy(i)
end do
close(60)
——————————— Initialize(msec)
do 1=1,2000
DD(i,1)=Float(i)*0.1
end do
——————— oV
SI1GZC(1)=sindo(1)*ganma(l)
do i=2,nn
SIGZC(i)=SIGZC(i-1)+(sindo(i)-sindo(i-1))*ganma(i)
end do
———————————————— (nnn)
nnn=0
nnt=0

titl(iim+1:iim+3)=F_PDC

——————— do roop 11 (1)
open(unit=21,file="check.dat")

do ic=1,nnmax

if (ic .1t. 10) then
titl(iimt4:i1im+7)="0000"
titl(iim+8:1im+8)=n(ic)

else if (ic .It. 100) then
titl(iim+4:iim+6)="000"
titl(iimt7:1im+7)=n(ic/10)
titl(iim+8:1im+8)=n(ic-(ic/10)*10)

else if (ic .It. 1000) then
titl(iim+4:iim+5)="00"
titl(iim+6:1im+6)=n(ic/100)
titl(@iimt7:iim+7)=n((ic-(ic/100)*100)/10)
titl(iim+8:i1im+8)=n(ic-(ic/10)*10)

else
titl(iimt4:iim+4)="0"
titl(iim+5:1im+5)=n(ic/1000)
titl(iim+6:1im+6)=n((ic-(ic/1000)*1000)/100)
titl(@iimt7:iim+7)=n((ic-(ic/100)*100)/10)
titl(iim+8:i1im+8)=n(ic-(ic/10)*10)

end if

titl(iim+9:iim+11)=F TRK
titl(iim+12:iim+15)=F _CSV
ifl=iim+15

open(unit=24,file=titl(1:ifl),status="old",err=44)
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nnt=nnt+1
read(24,*) ZITQ
ITQ(nnt)=INT(ZITQ)
nflg=1
44 close(24)

titl(Aim+9:1im+9)=F z
titl(iim+10:1im+13)=F _CSV
ifl=iim+13

open(unit=22,file=titl(1:ifl),status="old",err=88)
nnn=nnn+1
tit2(nnn)=titl(iim+1l:1im+8)
write(21,105) nnn,tit2(nnn)

do j=1,2000
read(22,*,err=99) DD(j,2),DD(j,3)

DD(j,3)=-1.0*DD(j,3)
end do
close(22)

<j=2: u>

DSX=0.0

do k=1,80
DSX=DSX+DD(k,2)

end do
US(nnn)=DSX/80.0

DEX=0.0
do k=1901,2000
DEX=DEX+DD(k,2)
end do
UE(nnn)=DEX*0.01

do k=1,2000
DD(k,2)=DD(k,2)-US(nnn)
end do

dux=0.0
do ip=80,120
if(dux .1t. DD(ip,2))then
dux=DD(ip,2)
idx=ip
end if
end do

do ig=idx-2, idx+2
DD(ig,2)=DD(idx-3,2)

end do
———————————————— ( w
do 1=1,3
do k=5,1996
DHK (k)=(DD(K-4,2)+DD(K-3,2)+DD(K-2,2)+DD(K-1,2)+DD(k,2)+
1 DD(k+1,2)+DD(K+2,2)+DD(K+3,2)+DD(K+4,2))/9.0
end do
do k=5,1996
DD(k,2)=DHK(K)
end do
end do
——————————————— wave data
do k=1,2000
wave(nnn,k,1)=DD(k,2)
end do
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<j=3: >

do 1=1,3
do k=5,1996
DHK(k)=(DD(K-4,3)+DD(K-3,3)+DD(K-2,3)+DD(K-1,3)+DD(k,3)+
1 DD(k+1,3)+DD (K+2,3)+DD(K+3,3)+DD(K+4,3))/9.0
end do

do k=5,1996
DD(k,3)=DHK(k)

end do

end do

do k=1,2000
DD(k,3)=DD(k,3)+DKasan
end do

DSX=0.0

do k=1,100
DSX=DSX+DD(k , 3)

end do

DS(nnn)=DSX*0.01

DEX=0.0

do k=1901,2000
DEX=DEX+DD(k, 3)

end do

DE(nnn)=DEX*0.01

do k=1,2000
DD(k,3)=DD(k,3)-DS(nnn)
if(0D(k,3)-1t.0.0) DD(k,3)=0.0
wave(nnn,k,2)=DD(k, 3)

end do

___________ nflg=1

if(nflg .eq. 1)then
TQD(nnt)=DE(nnn-1)
nflg=0

end if

———————————— (m)
——————————— N >N_Nvalue DISP.ERR

N >200 0.001
N >2000 0.0001

xN_Nvalue=0.2/(float(N_Nvalue)*2.0)

if(ABS(DE(nnn)-DS(nnn)) -1t. xN_Nvalue)then
nnn=nnn-1
write(21,100)"------- >DISP. ERROR"
go to 88
else
if(DE(nnn) .ge. DE(nnn-1))then
DST=DE(nnn)-DE(nnn-1)
else
DST=DST_before
write(21,100)"----- >DISP. COUNT ERR DST_before”
end if
end if

SINND(nnn)=(DS(nnn)+DE(nnn))*0.5
DST_before=DST
————— check_file

write(21,140) SINND(nnn),DST,DE(nnn),DS(nnn)
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do i=1,nn

if(SINND(nnn) .le. sindo(i)) go to 50
end do
write(*,110)"SINND =",nnn,SINND(nnn)
write(*,100) "***** DEPTH ERROR *****

go to 99
c
if(iii .eq. 1)then
S1GZ(nnn)=SINND(nnn)*ganma(1)
else
SI1GZ(nnn)=SIGZC(iii-1)+(SINND(nnn)-sindo(iii-1))*ganma(iii)
end if
C ______
KGG(nnn)=KGGou(iii)
Cmmmmmmmmm o'V
if(gwl .ge. SINND(nnn))then
U(nnn)=0.0
else
U(nnn)=(SINND(nnn)-gwl)*wganma
end if
SIGY(nnn)=SI1GZ(nnn)-U(nnn)
[ (mini N Nd )
c
c zn(nnn)=0.2/DST  :< >
zn(nnn)=0.2/DST*0.5
c
88 end do
c
c
TQD(nnt)=DE(nnn)
c
write(21,100)"-------  ——————- -
write(21,100)" (m) "
do i=1,nnt
write(21,150) TQD(i), ITQ(i)
end do
c
close(21)
C < >
do nnnn=1,nnn
C _______
do i=1,nnt
if(SINND(nnnn) .1t. TQD(i))go to 60
end do
write(*,100) "***** TQ ERROR ******
go to 99
c
60 iiit=i
if(iiit .eq. 1)then
x1tg=SINND(nnnn)/TQD(1)*FLOAT(ITQ(1))
else
satg=FLOAT(ITQ(i1it)-1TQ(iiit-1))
saxitg=(SINND(nnnn)-TQD(i1it-1))/(TQD(iiit)-TQD(iiit-1))
xitg=saxitg*satq+FLOAT(ITQ(i11t-1))
end if
(o e miniRAM  kgf cm
c zn(nnnn)=zn(nnnn)-0.016*xitq
c if(zn(hnnn) .I1t. 0.0)zn(nnnn)=0.0
C o miniRAM N m
zn(nnnn)=zn(nnnn)-xTQ*xitq
if(zn(nnnn) .1t. 0.0)zn(nnnn)=0.0
c
end do
c
C—--mmm———- ,US,UE
c
if(iidou .eq. 1)then
c

zn(1)=zn(2)
zzn(1)=zn(2)
zzn(2)=zn(2)
US(1)=Us(2)
zUS(1)=US(2)
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2US(2)=US(2)
UE(L)=UE(2)

ZUE(1)=UE(2)
ZUE(2)=UE(2)

zzn(nnn-1)=zn(nnn-1)
zzn(nnn)=zn(nhnn)
zUS(nnn-1)=US(nnn-1)
zUS(nnn)=US(nnn)
zUE(nnn-1)=UE(nnn-1)
zUE(nnn)=UE(nhnn)

do imm=1,N_idou

do inn=3,nnn-2
zzn(inn)=(zn(inn-2)+zn(inn-1)+zn(inn)+zn(inn+1)+zn(inn+2))/5.0
zUS(inn)=(US(inn-2)+US(inn-1)+US(inn)+US(inn+1)+US(inn+2))/5.0
zUE(inn)=(UE(inn-2)+UE(inn-1)+UE(inn)+UE(inn+1)+UE(inn+2))/5.0
end do

do inm=1,nnn
zn(inm)=zzn(inm)
US(inm)=zUS(inm)
UE(inm)=zUE(inm)
end do

end do

end if

do inm=1,nnn
UESV(inm)=UE(inm)/SIGY(inm)
DUESV(inm)=(UE(Cinm)-U(inm))/SIGY(inm)
end do

do inm=1,nnn
C———==== < >
zn1(inm)=170.0*zn(inm)/(S1GY(inm)+70.0)
C------- < or Ue/o"v>2.811 0.0>
if (SINND(inm).lIt.gwl) then
FC(inm)=-999.0
XRL1(inm)=-999.0
xRL2_1(inm)=-999.0
XRL2_2(inm)=-999.0
XR3(inm)=-999.0
XLL1(inm)=-999.0
xLL2_1(inm)=-999.0
xLL2_2(inm)=-999.0
xL3(inm)=-999.0
FLL1(inm)=-999.0
FLL2 1(inm)=-999.0
FLL2_2(inm)=-999.0
FL3(inm)=-999.00
zna(inm)=-999.0
else
[ <FC >
c FC (iFcSW=1: 2: )
if (iFcSW.eq.1) then
FC(inm)=xAFc*UESV(inm)+xBFc
else if (iFcSW.eq.2) then
FC(inm)=xAFc*DUESV (inm)+xBFc
end if
if(FC(inm) .gt. 100.0) FC(inm)=100.0
if(FC(inm) .1t. 0.0) FC(inm)=0.0
Cm=—mm—= <FL >
C—-————- < Fc xLigFc>
if(FC(inm) .It. xLigFc) then

iIf(FC(inm) .It. 10.0)then
cl=1.0
c2=0.0

else if(FC(inm) .1t. 60.0)then
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c1=(FC(inm)+40.0)/50.0

c2=(FC(inm)-10.0)/18.0
else

c1=FC(inm)/20.0-1.0

c2=(FC(inm)-10.0)/18.0

end if
C-————-- < a >
zna(inm)=c1*znl(inm)+c2
Cm=—mm—= <RL>

RL=0.0882*(zna(inm)/1.7)**0.5
if (zna(inm) .ge. 14.0)then
RL=RL+1.6*10.0**(-6)*(zna(inm)-14.0)**4.5
end if
C-———--- <xRL1 1 xRL2_1: ,XRL2_2: ,XR3
XRL1(inm)=RL
XRL2_1(inm)=RL

if (RL .le. 0.1) then
XRL2_2(inm)=RL

else if (RL .le. 0.4) then
XRL2_2(inm)=(3.3*RL+0.67)*RL

else
XRL2_2(inm)=2.0*RL

end if

if (JisinSW .EQ. 1)then
if (Jtype .EQ. = L1") then
XR3(inm)=xRL1(inm)
else if (Jtype .EQ. " L2-1") then
XR3(inm)=xRL2_1(inm)
else if (Jtype .EQ. " L2-2%) then
XR3(inm)=xRL2_2(inm)
end if
else
XR3(inm)=-999.0
end if

——————— <xLL1 1 xLL2_1: ,XLL2 2: ,XL3
rd=1.0-0.015*SINND(inm)
XLL1(inm)=rd*s_shindo_L1(Jshu)*chiikiL1*SIGZ(inm)/SIGY(inm)
xLL2_1(inm)=rd*s_shindo_L2(1, jshu)*chiikiL2_1*SIGZ(inm)

1 /SIGY(inm)
xLL2_2(inm)=rd*s_shindo_L2(2, jshu)*chiikiL2_2*SI1GZ(inm)
1 /SIGY(inm)
if (JisinSW .EQ. 1)then
xL3(inm)=rd*setteisindo*setteichiiki*SIGZ(inm)/SIGY(inm)

else
xL3(inm)=-999.0
end if
------- <FLL1 1 FLL2_1: ,FLL2 2: ,FL3

FLL1(inm)=xRL1(inm)/XLL1(inm)
FLL2_1(inm)=xRL2_1(inm)/xLL2_1(inm)
FLL2_2(inm)=xRL2_2(inm)/xLL2_2(inm)
if (JisinSW _EQ. 1)then
FL3(inm)=xR3(inm)/xL3(inm)
else
FL3(inm)=-999.0
end if
——————— <R,L,FLmax=2.0>
If(xXRLL(inm) .gt. 2.0)xRL1(inm)=2.0
If(xRL2_1(inm) .gt. 2.0)xRL2_1(inm)=2.0
If(xRL2_2(inm) .gt. 2.0)xRL2_2(inm)=2.0
IF(xR3(inm) .gt. 2.0)xR3(inm)=2.0
iIf(xLL1(inm) .gt. 2.0)xLL1(inm)=2.0
If(xLL2_1(inm) .gt. 2.0)xLL2_1(inm)=2.0
iIf(xLL2_2(inm) .gt. 2.0)xLL2_2(inm)=2.0
1f(xL3(inm) .gt. 2.0)xL3(inm)=2.0
if(FLL1(inm) .gt. 2.0)FLL1(inm)=2.0
if(FLL2_1(inm) .gt. 2.0)FLL2_1(inm)=2.0
iIf(FLL2_2(inm) .gt. 2.0)FLL2_2(inm)=2.0
1f(FL3(inm) .gt. 2.0)FL3(inm)=2.0
else
XRL1(inm)=-999.0
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xRL2_1(inm)=-999.0
XRL2_2(inm)=-999.0
XR3(inm)=-999.0
XLL1(inm)=-999.0
xLL2_1(inm)=-999.0
xLL2_2(inm)=-999.0
xL3(inm)=-999.0
FLL1(inm)=-999.0
FLL2 1(inm)=-999.0
FLL2_2(inm)=-999.0
FL3(inm)=-999.0
zna(inm)=-999.0

end if

end if

end do

data write

open(unit=10, file=t_output)

if(JisinSW.EQ.1)then
write(10,201) site_name,no_name,hiduke,sokutei,kiroku,
hyoukou,gwl,setteisindo, jtype,n_FCsuitei,
2 XAFc, XBFc,xLigFc,xTQ
else
write(10,200) site_name,no_name,hiduke,sokutei,kiroku,
hyoukou,gwl,n_FCsuitei ,xAFc, XBFc,xLigFc,
2 XTQ
end if
write(10,220) (hyo(i),i=1,27)

do 1i=1,nnn

write(10,210) ii,tit2(ii),SINND(ii),KC6(ii),S16Z(ii),U(ii),

1 SIGY(ii),zn(ii),znl(ii),USCii),UE(ii),UESV(ii),
2 DUESV(ii),zna(ii),FC(ii),xR3(ii),xRL1(i1),

3 XRL2_1(i1),xRL2_2(ii),xL3(ii),xLLL(ii),

4 XLL2_1(ii),xLL2_2(ii),FL3(ii),FLL1(ii),

5 FLL2_1(ii),FLL2 2(ii)

end do

close(10)

if(iram .eq. 1) then

———————— lcm 20cm +1
nrmax=INT((SINND(nnn)+0.1)*5.0)
nrmin=INT(SINND(1)*5.0)+1

SD(0)=0.0

do i=1,nrmax
SD(i)=Float(i)*0.2

end do

open(unit=10, file=mr_output)

write(10,200) site_name,no_name,hiduke,sokutei,kiroku,
hyoukou, gwl

do i=nrmin,nrmax
mnr=0
do j=1,nnn
if(SINND(j).gt.SD(i-1) .and. SINND(j).le.SD(i)) then
mnr=mnr+1
end if
end do

zSD=(SD(i-1)+SD(i))*0.5

if(zSD .le. TQD(1))then
x1TQ=zSD/TQD(1)*float(1TQ(1))
else
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do k=1,nnt-1
if(zSD.gt.TQD(k) .and. zSD.le.TQD(k+1))then
x1TQ=Float(1TQ(k+1)-1TQ(k))*(zSD-TQD(k))/ (TQD(k+1)-TQD(k))

1 +Float(1TQ(k))
go to 70
end if
end do
write(*,100) " ******ERROR TQ data sheet********
go to 99
end if
70 continue
c - < tkgf cm>
c xmnr=Float(mnr)*0.5
c Dnd=0.016*x17Q
C - < N m>
xmnr=float(mnr)*0.5
Dnd=xTQ*xI1TQ
C < >
c xmnr=Float(mnr)
c Dnd=0.004*x17Q
c
ihon=i/5+1
cC - (kgf cm)
xmnrN=xmnr-Dnd
iIf(xmnrN _1t. 0.0)xmnrN=0.0
c
write(10,260)SD(i), ihon,mnr,xmnr, int(x17Q),Dnd,xmnrN
end do
c
close(10)
c
end if
c
c wave write
c
if(iwave .eq. 1) then
c
nkk=nnn/100+1
do ia=1,nkk
c
kks=(ia-1)*100+1
kke=1a*100
c
if(ia .1t. 10)then
w_output(iim+9:iim+9)="0"
w_output(iim+10:1im+10)=n(ia)
else
w_output(iim+9:iim+9)=n(ia/10)
w_output(iim+10:1im+10)=n((ia-(ia/10)*10))
end if
w_output(iim+ll:iim+14)="_csv"
c
open(unit=10, file=w_output)
c
write(10,250) site_name,no_name
write(10,230) “time", (tit2(i),i=kks,kke)
c
do i=1,2000
write(10,240) DD(i,1),(wave(j,i,1),j=kks,kke)
end do
c
do i=1,2000
write(10,240) DD(i,1),(wave(j,1,2),]j=kks,kke)
end do
c
close(10)
c
end do
c
end if
c
c
write(*,100) no_name
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Cc

201

210

220
230
240
250
260
270
271
272
273

99

write(*,100) "***** compleated ******
—————— format

format(a)

format(i5,1x,a)

format(5x,a,i5,f5.2)

format(3a)

format(i5)

format(i5,2f5.2,16.3)

format(3i5)

format(i5,a)

format(i5)

format(f5.2,a)

format(2f5.1)

format(f5.1,¥10.3)

format(2f5.2,a)

format(5x,4f10.5)
format(f10.3,5x,15)
format(a,4(",",a),",",5.2,",",5.2,3(","),a,",",f5.1,",",f5.1,

1 -, 15.1,",7,f10.3)
format(a,4(",",a),",",f5.2,",",5.2,",",§5.2,",",2(a,", "),
1 f5.1,%,",f5.1,",",15.1,", *,f10.3)
format(ilo0,",",a,",",f10.3,",",a,",",3(f10.3,","),2(f10.1,","),
1 2(f10.3,","),2(f10.5,","),2(f10.1,","),8(f10.5,","),
2 f10.3,",",f10.3,",",¥10.3,",",f10.3)
format(31(a,","))

format(3000(a, ", "))

format(f10.1,",",3000(f10.5,","))

format(10(a,","))
format(f5.2,",",2(i5,","),f5.1,",",i5,",",f10.3,",",15.1)
format(a,11,2a)

format(a,f5.2)

format(a,f5.1,a,f5.1)

format(a,f10.3)

continue
stop
end
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